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So we can work out the follow equation. 
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From the two trigonometric functions as follows, 
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From(5)we can figure out 
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2) When n  is odd number，The calculation formula of 
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From（ 1）  and （ 6） , we can figure out 
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3. Application 
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It is the best mean square approximation polynomial of arctan x . Taking )(12 xP k  as an approximation of arctan x . 
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And taking )(5 xP  as an approximation of arctan x ,calculate the approximation of arctan0.5 . 
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Now try to make )(12 xP k  which is the best mean square approximation polynomial of arctan x  instead of arctan x  
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